

١٩،٥ ~ انرين

امير جلالى

$$\sec x = \tan^2 x + 1 \Rightarrow \sec x = \frac{1}{\cos^2 x} \Rightarrow \sec^2 x = 1 \Rightarrow \cos x = \pm \frac{1}{\sqrt{2}}$$



جواب: $x = \frac{\pi}{4}$ و $-\frac{\pi}{4}$

$$\omega(1 - \cos^2 x) + \cos^2 x = -2 \Rightarrow -\omega \cos^2 x + \cos^2 x + 2 = 0 \Rightarrow \begin{cases} \cos^2 x = 1 \\ \cos^2 x = -1 \end{cases}$$

$$\Rightarrow \begin{cases} \cos x = \pm 1 \\ x = (2k+1)\pi \end{cases} \Rightarrow \begin{cases} x = k\pi \\ x = \frac{(2k+1)\pi}{\sqrt{2}} \end{cases} \Rightarrow \boxed{\pm \pi}$$

جواب: $\pm \pi$

$$\sin(\alpha + \beta) + \sin(\alpha - \beta) = 2 \sin \alpha \cos \beta \xrightarrow{\substack{\alpha = x \\ \beta = x}} \sin(2x) + \sin(0) = 1 \Rightarrow \sin(2x) = 1$$

$$\Rightarrow \sin 2x = 1 \Rightarrow \begin{cases} 2x = 2k\pi + \frac{\pi}{2} \\ 2x = 2k\pi + \frac{5\pi}{2} \end{cases} \Rightarrow \begin{cases} x = k\pi + \frac{\pi}{4} \\ x = k\pi + \frac{5\pi}{4} \end{cases} \Rightarrow \boxed{\frac{\pi}{4}, \frac{5\pi}{4}}$$

$$\frac{1}{\sin(\frac{\pi + x}{\sqrt{2}})} = -\frac{1}{\cos(\frac{\pi + x}{\sqrt{2}})} \Rightarrow \sin(\frac{\pi + x}{\sqrt{2}}) + \cos(\frac{\pi + x}{\sqrt{2}}) = 0$$

$$\Rightarrow \cos^2 x - \sin^2 x = 0 \Rightarrow \cos^2 x(1 - \tan^2 x) = 0 \Rightarrow \cos x \neq 0 \Rightarrow \tan^2 x = 1$$

$$\Rightarrow \sin^2 x = \frac{1}{2} \Rightarrow \sin x = \pm \frac{1}{\sqrt{2}} \Rightarrow x = \frac{\pi}{4}, \frac{3\pi}{4}, \frac{5\pi}{4}, \frac{7\pi}{4} \Rightarrow \boxed{\frac{\pi}{4}, \frac{3\pi}{4}, \frac{5\pi}{4}, \frac{7\pi}{4}}$$

$$\frac{\sqrt{2}}{2}(\cos x - \sin x) = \frac{1}{\sqrt{2}} \Rightarrow \cos x - \sin x = \frac{1}{\sqrt{2}}$$

$$\Rightarrow \sin^2 x = 1 - (\cos x - \sin x)^2 = \frac{1}{2} \Rightarrow \sin x = \pm \frac{1}{\sqrt{2}}$$

$$\Rightarrow m(\sqrt{\frac{2}{3}}) - \sqrt{4}(\frac{1}{\sqrt{3}}) = \sqrt{4} \Rightarrow m = 4$$

$$m = \frac{\sqrt{4} \times \sqrt{3}}{\sqrt{2}} = \frac{2\sqrt{6}}{\sqrt{2}} = 2\sqrt{3}$$

$$\sin\left(x + \frac{\pi}{4}\right) \cos\left(\frac{\pi}{4} - x\right) \rightarrow \sin^p\left(x + \frac{\pi}{4}\right) = 1 \Rightarrow \sin\left(x + \frac{\pi}{4}\right) = \pm 1$$

$$x + \frac{\pi}{4} = k\pi \pm \frac{\pi}{2} \Rightarrow x = k\pi \pm \frac{\pi}{4}$$

$$\div p \Rightarrow \frac{1}{p} \sin x + \frac{\sqrt{p}}{p} \cos x = \frac{\sqrt{p}}{p} \Rightarrow \sin \frac{\pi}{4} \sin x + \cos \frac{\pi}{4} \cos x = \cos\left(\frac{\pi}{4}\right)$$

$$\Rightarrow \cos\left(x - \frac{\pi}{4}\right) = \cos \frac{\pi}{4} \Rightarrow x - \frac{\pi}{4} = k\pi \pm \frac{\pi}{4} \xrightarrow{-\pi \leq x \leq \pi} x = \pm \frac{\pi}{2} + \frac{\pi}{4} = \frac{3\pi}{4}, \frac{\pi}{4}$$

$$\xrightarrow{\text{مجموع}} -\frac{\pi}{2} + \frac{3\pi}{4} + k\pi = \frac{\pi}{4}$$

$$-p \sin x \cos x = 1 \Rightarrow p \sin x \cos x = -\frac{1}{p} \Rightarrow \sin^p x = -\frac{1}{p}$$

$$\Rightarrow px = k\pi - \frac{\pi}{4} \Rightarrow x = k\pi - \frac{\pi}{4} \xrightarrow{n=1,2} x = \frac{11\pi}{12}, \frac{5\pi}{12}$$

$$\Rightarrow px = k\pi - \frac{3\pi}{4} \Rightarrow x = k\pi - \frac{3\pi}{4} \xrightarrow{n=1,2} x = \frac{5\pi}{12}, \frac{11\pi}{12}$$

$$S = \left\{ \frac{11+19+23+27}{12}, n = \infty \right\}$$

$$(p \cos^p \alpha)(p \cos^p \alpha)(p \cos^p \alpha) = \frac{1}{\lambda} \Rightarrow q \cos^p \alpha \cos^p \alpha \cos^p \alpha = 1$$

$$\Rightarrow (\lambda \cos \alpha \cos^p \alpha \cos^p \alpha) = 1 \xrightarrow{\times \frac{\sin \alpha}{\sin \alpha}} \left(\frac{\sin \alpha}{\sin \alpha} \right)^p = 1 \Rightarrow \sin^p \alpha = \sin^p \alpha$$

$$\Rightarrow \lambda \alpha = k\pi \pm \alpha \Rightarrow \alpha = \frac{k\pi}{\lambda} \wedge \alpha = \frac{k\pi}{q} \xrightarrow{\sin \neq 0} \max \alpha = \frac{\lambda \pi}{q}$$

$$\tan^p x = \cot x \Rightarrow \tan^p x = \tan\left(\frac{\pi}{p} - x\right) \Rightarrow px = k\pi + \frac{\pi}{p} - x$$

$$\Rightarrow x = \frac{k\pi}{p} + \frac{\pi}{\lambda} \rightarrow \frac{9\pi}{\lambda} + \frac{11\pi}{\lambda} + \frac{13\pi}{\lambda} + \frac{15\pi}{\lambda} = \frac{48\pi}{\lambda} = \frac{4\pi}{1}$$

$$\sin\left(\frac{\sqrt{a}}{r} - n\right) = -\cos n$$

①

$$\forall \sin n(-\cos n) \geq 1 \rightarrow -\forall(\forall \sin n \cos n) \geq 1 \rightarrow \sin \forall n \leq -\frac{1}{r}$$

$$\forall n = \forall k\pi - \frac{\pi}{4} \leq \forall k\pi + \frac{\sqrt{a}}{r} \rightarrow n = k\pi - \frac{\pi}{4} \leq k\pi + \frac{\sqrt{a}}{r}$$

$$\begin{aligned} 0 \leq n \leq 2\pi & \xrightarrow{1} \begin{cases} k=0, 1 \rightarrow n = \frac{\sqrt{a}}{r}, \frac{19\pi}{12} \\ k=1, 2 \rightarrow n = \frac{11\pi}{12}, \frac{25\pi}{12} \end{cases} \end{aligned}$$

$$S = \frac{\sqrt{a}}{r} + \frac{19\pi}{12} + \frac{11\pi}{12} + \frac{25\pi}{12} = \frac{4 \cdot \pi}{12} = \boxed{2\pi}$$